In Singapore, the Primary School Leaving Examinations (PSLEs) are taken by most students near the end of their sixth year. Until 2020, performance on the PSLEs was reported as T-scores. But what are T-scores? Here is the Straits Times' explanation:
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1) Do you see any innumeracy in the explanations above? That is, do you see bad reasoning or explanations that involve numbers?





2) The formula for an individual subject T-score above is correct. For each subject, what is the expected mean and standard deviation of the raw scores? Of the T-scores?





3) What is the relationship of a z-score and an individual subject T-score?





4) An MOE publication claims that "Statistically, the Average National Aggregate T-score should be 200." Is this true? If not, provide a counter-example.






5) The MOE publication goes on to state that "Many parents believe that the maximum aggregate is 300." Is this the maximum score? If not, what is it?





6) Finally, the MOE publication claims that it is "not accurate to compare a student's aggregate score in a particular year to the aggregate score of another student in a different year." Is this true? Why or why not?





7) In a previous year, there was a request in parliament that included the following: "[W]ill the Ministry consider releasing the raw scores for greater transparency so that parents can make more informed decisions on their children’s education?" What do you think of this request?





8) Since 2020, PSLE scores have been reported as grade bands, akin to the marks for O-levels and A-levels. Do you think this system is better? What problems does it try to solve? And does it solve them?
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Working out the T-score

W Short for “transformed
score”, the PSLE T-score is
the sum of the T-scores in all
four subjects.

Wt is an adjusted score that
shows how well a pupil does
relative to his peers.

W Because of the way it is
calculated, it is possible for a
pupil to “make up” for a weak
subject by doing very well in
the other three.

Wt is calculated using the
following formula:

T-Score = 50 + (10 x (raw
score - mean)/standard
deviation).

W Raw score shows how good
a pupil is in the subject.

W Mean refers to the average
mark scored by the cohort.

W Standard deviation
measures the “spread” of
marks among the cohort. If
the mean is 55, and standard
deviation is 10, it would mean
that the cohort scored 10
marks around the average,
from 45 to 65.

M For example:

If a pupil scores 80 in a
subject, the average mark
scored by his cohort is 60 and
the standard deviation is 14,
this is how it would be
calculated:

50 + (10 x (80-60)/14) =
64.29




